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VA

VB

VoI

VO

|O

26 2.96 2.732 3.82 -0.38 0.0525
27 2.97 2.732 3.95 -0.38 0.0545
28 2.98 2.732 4.21 -0.38 0.0565
29 2.99 2.732 4.41 -0.38 0.0585
30 3.0 2.732 4.55 -0.38 0.0605
31 3.01 2.732 4.67 -0.38 0.0635
32 3.02 2.732 4.82 -0.38 0.0665
33 3.03 2.732 5.01 -0.38 0.0685
34 3.04 2.732 5.23 5 0.0705
35 3.05 2.732 5.35 5 0.0735
36 3.06 2.732 5.47 5 0.0765
37 3.07 2.732 5.59 5 0.0795
38 3.08 2.732 5.71 5 0.0825
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A B
Q Q Q
200 [18.49 +0.24 |£0.55 [£0.56 |*1.3
100 160.25 +0.14 |£0.35 [£0.32 |£0.8
+0 100.00 +0.06 |£0.15 [£0.12 (0.3
100 [138.50 +0.13 |£0.35 [£0.30 [+0.8
200 [175.84 +0.20 |£0.55 [£0.48 |+1.3
300 |212.02 +0.27 |£0.75 [£0.64 |£1.8
400 (247.04 +0.33 |£0.95 [£0.79 |&2.3
500 {280.90 +0.38 |£1.15 [£0.93 [£2.8
600 |313.59 +043 |£1.35 [£1.06 £33
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VA | Ri i Vi VO

26 0.130 111.09Q 2mA 222.18mV 4.508
27 0.130 111.52Q 2mA 223.04mV 4.559
28 0.131 111.94Q 2mA 223.88mV 4.623
29 0.131 112.37Q2 2mA 224.74 mV 4.661
30 0.131 112.79Q 2mA 225.58 mV 4.702
31 0.132 113.22Q 2mA 226.44 mV 4,758
32 0.132 113.65Q 2mA 227.32 mV 4811
33 0.133 114.07Q 2mA 228.14 mV 4.852
34 0.134 114.5Q 2mA 229 mV 5.042
35 0.134 114.93Q 2mA 229.86 mV 5.096
36 0.135 115.35Q2 2mA 230.7 mV 5.043
37 0.135 115.86Q2 2mA 231.58mV 5.086
38 0.136 116.23Q2 2mA 232.44 5.134
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()

START?2

LOOP

89C51-1

051
ORG 0000H
ACALL READ Vin A/D
MOV R3,P2 P2 R3
MOV RO, #87
MOV R1,#59 5
MOV R2 ,#5
ACALL READ
MOV A ,R3 P2 R3 A
CINE A ,P2,START2 A P2
START?2
MOV R3 ,P2 P2
ACALL READ
MOV A , R3
DINZ RO , LOOP 87x59x
MOV RO , #87 =25665 5
DINZ RO , LOOP
DINZ R1 , #59 DINZRn.Loop:A 1#0
DINZ R2 , LOOP A 1=0 Loop
JB ACC.7 , RED
MOV P1,#11110111B FFH LED
AIJMP START]1
MOV P1,#11011111B 00H LED
AIJMP START]1
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LOW

HIGH

CLR
MOV
SUBB
INC

MOV

RET
MOV
RET
END

P1.6 , WAIT

C

A ,P3
A, #230

HIGH

P2 ,# 00H

P2 ,#FFH

A/D
A/D
Vin A/D
175us
CF

Vin A/D
C=0

P2=0

P2=1

READ

WAIT

LOW

HIGH

A, P2 .START2
R3,P2
READ
P1.7
P1.7
P1.6 , WAIT
C

A, P2
A, #230

HIGH
P2 ,#00H

P2 ,#FFH
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WR’=0
WR’=1
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HIGH

<2>175

INTR’=0
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RET T14=2

MOV A,R3 T15=1
DINZ RO, LOOP T16=2
MOV RO, #210 T17=1
DINZ R1,LOOP T18=2
MOV R1,#136 T19=1
DINZ R2 ,LOOP T20=2

;RO=87 . R1=59. R2=5.

= T1+T2+T3+T4+T5+T7+T8+T9+T10+T11 TI13 +T12 TI14
+T15+T16 xRO+T17+T18 xR1 TI9+T20 R2

=R2 R1 RO 20+T6 +3 +3 —R2 RI1 195R0+3 +3 195RORIR2

=5x 59 &7 20+175 +3 +3

5
Te A/D , 175 , 175U s
Ro Ri R

RR Ri 195R0+3 +30RIRR195R
Rn\ 1 2 3 4 5 6 7 8 9 10 |11 |12 (13 |14 |15
Ro 87 |87 |87 |87 | &7 |87 |87 |87 |87 |87 |87 |87 |87 | &7 |87
Ri 59 {59 |59 [59 |59 |59 |59 |59 (59 |59 (59 |59 |59 |59 |59
R2 1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 | 15

RO=87 RI1=59 R2

DB Vin
DB=51Vin

SUBB A #230

230=51Vin
-Vin 4.5V
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Vin=2V DB=
DB=51x2=102 10 =66H=01100110B
-DB7 DB6 DB5 DB4 DB3 DB2 DBI
! ! ! ! ! !
0 1 1 0 0 1 1
1. DB=51Vin Vee=5V
12MHz =12/12M =1y s
=1y s x10116110=10.11611S 10
12 xRo+3 xRi+3 xRo
R/ |3 5 |7 10 |13 |15
Ro (77 |77 (77 |77 |77 |77
Rt (71 |71 (71 |71 |71 |71
R2 |3 5 7 10 |13 |15
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() 89C51-2

MotorBuffer reg 30h

start:

loop:

CASEL:

forl

Forward:

CASE2:

org Oh

mov tmod,#00000001b

Timer0O

mov MotorBuffer,#11001100b

mov 10,#0

mov p2,#0fth
jnb  p2.7 ,CASE1
jnb  p2.6 ,CASE2
ajmp loop

cjne r0,#0h,loop
mov 10,#0ffh

mov r2,#4
mov 17,#200

mov a,MotorBuffer

I a

mov MotorBuffer,a

mov pl,a

mov 15,#1

call Delay

djnz r7,Forward

djnz r2,forl

mov 15,#20

call Delay
ajmp loop

cjne r0,#0fth,loop

MotorBuffer
BABA=1100 0
RO=0
p2
P2.7#
P2.6%
1

0 loop

200

Sms
200
200
200

loop

21

ON

ModE1



mov

r0,#0h

mov r2.#4

revl mov

Reverse:

Delay:

wait:

TimeOut:

mov

mov
mov
mov
call

djnz

djnz
mov
call

ajmp

mov
mov
setb

jbc
jmp

djnz
clr
ret

end

r7,#200

a,MotorBuffer
a
MotorBuffer,a
pl,a

r5,#1
Delay

r7,Reverse

r2,revl
r5,#20
Delay
loop

th0,#>(65536-5000)
t10,#<(65536-5000)
tr0

tf0, TimeOut

wait

r5,Delay

tr0
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( ) 89C51-3

Ti mer O I NTO
Cj:) ( Tinwri)nt ( Ext | {)0
i i
Ti mer O
Mod el 4 ms ADCO0804
| i i
)
| NTO
l i
ADCO0804
l i
ADCO0804

]

2
DISPLAYBUFFER EQU 30H
SCANCOUNTER EQU 34H
TEMPLOW EQU 35H
TEMPHIGH EQU 36H

ORG OH

IMP RESET

ORG 3H

IMP EXTINTO

ORG 0BH

IMP TIMERINT




RESET:
MOV SP,#70H
MOV SCANCOUNTER,#0

5 USE TIMER 0 MODE 1 -

- 4000US INTERRUPT -
MOV TMOD,#00000001B
MOV THO #>(65536-4000)
MOV TLO#<(65536-4000)
MOV IE,#10000011B
MOV IP,#00000000B
SETB TRO
MOVX @RO,A

ADLOOP:
JMP ADLOOP

;-  TIMERO INTERRUPT SERVICE ROUTINE -

b

b

TIMERINT:
MOV THO #>(65536-4000)
MOV TLO#<(65536-4000)
PUSH A
PUSH PSW
SETB RSO
CLR RS1
CALL SCANDISPLAY
POP PSW
POP A
RETI
- SCAN DISPLAY -
SCANDISPLAY:

MOV RO#SCANCOUNTER
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INC @RO

CINE @RO,#4,NOTOVER
MOV @RO,#0
NOTOVER:
MOV A,@RO
ADD A#DISPLAYBUFFER
MOV RI,A
MOV A,@RO
SWAP A
ORL A,@R1
MOV PL,A
RET

b

b

DISPLAYTEMPINTODISPLAYBUFFER:

MOV R1,#DISPLAYBUFFER
LOOP: MOV A,TEMPLOW

MOV B.#10H

DIV AB

MOV @R1,B

INC RI

MOV @R1,A

INC RI

MOV A, TEMPHIGH

MOV B.#10H

DIV AB

MOV @R1,B

INC RI

MOV @R1,A

RET
TRANSFER:

MOV B.#2

MUL AB

CLR C

SUBB A#<273
MOV TEMPLOW,A
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MOV A.B
SUBB A #>273
MOV TEMPHIGH,A
CALL BIN2BCD
MOV TEMPHIGH,R4
MOV TEMPLOW,R3
RET
BIN2BCD:
MOV R5.,#16
CLR A
MOV R3,A
MOV R4,A
TLOOP:
MOV A, TEMPLOW
RLC A
MOV TEMPLOW,A
MOV A, TEMPHIGH
RLC A
MOV TEMPHIGH,A
MOV A,R3
ADDC AR3
DA A
MOV R3,A
MOV A,R4
ADDC A,R4
DA A
MOV R4,A
DINZ R5,TLOOP
RET
EXTINTO:
PUSH A
PUSH psw
SETB RS1
CLR RSO
MOVX A,@RO
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(

)

A e

CALL TRANSFER
CALL
MOVX @RO,A
POP PSW
POP A
RETI
END
8051/8751
8051/52
8051
IC

DISPLAYTEMPINTODISPLAYBUFFER
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